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! 100kN/MZH#BZ. % — -~ — —|3mEEZS -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZBZ D -~ — — —
ThLst 1.00| 0.00 ~ 6.53 8228 | #nkist | 0.00 ~ 0.00 ]| 1.57 7.95 zhLs 1.00 | 5,00 ~ 8.65 8228 | #nkist | 500 ~ 865 | 1.57 7.95
) 100kN/mM%#B % % — -~ — —[3mZEBZ S -~ — — —| 100kN/mi%#BZ.5 — -~ — —[3mZEBZ D -~ — — —
zh st 1.00 | 0.00 ~ 5.87 73.40 | #=nkist | 0.00 ~ 0.00 | 1.62 8.17 znLs 1.00 | 500 ~ 6.91 7340 | =hLlst | 5.00 ~ 691 | 1.62 8.17
3 100kN/MZ#B 2 % - -~ — —|3m%EEZS -~ — - —| 100kN/mi%EH#BZ. 5 — -~ — —[3mZEBZ S — ~ - - —
znst 1.00| 000 ~ 553 69.04 | #hList | 000 ~ 0.00 | 1.62 8.20 zhst 1.00 | 500 ~ 6.30 69.04 | Zhiist | 500 ~ 630 | 1.62 8.20
A 100kN/MZH#BZ. % — -~ — —|3mEHEZS -~ — — —[ 100kN/MZE#BZ % - -~ - —|[3mZiBZ D -~ — — —
zhLst 1.00| 0.00 ~ 5.71 7140 | #nlist | 000 ~ 0.00 | 1.73 8.74 ThLs 1.00 | 500 ~ 6.36 7140 | =4t | 500 ~ 6.36 | 1.73 8.74
5 100kN/mM%#B 2 % — -~ — —[3mZiBZ S -~ — — —| 100kN/mi%#BZ. 5 - -~ — —[3mZEiBZ D -~ - — -
ThLst 1.00| 000 ~ 7.43 9493 | =nu4t | 000 ~ 743 2.05 10.38 zhst 1.00 | 500 ~ 10.00 9493 | =h st | 500 ~ 10.00 | 2.05 10.38
6 100kN/MZH#EZ. % — - ~ — —|3mZ#EZ 5 -~ — - — | 100kN/mM%# %% - - ~ - —|3mZEi#BZ 3 -~ - — —
Zzhsn 100 000 ~ 7.37 9403 | #hbLlst | 000 ~ 7.37| 249 12.58 zhs 1.00 | 500 ~ 11.00 94.03 | #hbLlst | 500 ~ 11.00 | 2.49 12.58
. 100kN/MZH#BZ. % — -~ — —|3mEHEZ S -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZEiBZ D -~ — — —
ThLst 1.00 | 0.00 ~ 7.37 9403 | #nkist | 000 ~ 7.37| 2.02 10.20 zhList 1.00 | 5,00 ~ 11.00 9403 | =4t | 5.00 ~ 11.00| 2.02 10.20
o 100kN/m#%#8x%| 1.00| 000 ~ 0.06 100.86 |3mZE#BZ % -~ - - —| 100kN/Mi%E#8%%| 1.00 |10.85 ~ 11.00 100.86 |3mZ#BZ % -~ = - -
zhLst 1.00 ] 006 ~ 7.84 100.00 | ZhList | 000 ~ 7.84| 1.88 9.50 zhLs 1.00| 500 ~ 10.85 100.00 | Zh st | 500 ~ 11.00 | 1.88 9.50
9 100kN/mM#Z#BZ % 1.00 | 0.00 ~ 0.06 100.86 |3m%#EZ D - ~ — — —| 100kN/mi%#%%| 1.00 [10.85 ~ 11.00 100.86 [3mZiBA D -~ — - —
zhnLst 1.00| 006 ~ 7.84 100.00 | Znld4t | 000 ~ 7.84| 2.32 11.72 FhLs 1.00 | 5,00 ~ 10.85 100.00 | #nList | 5.00 ~ 11.00 | 2.32 11.72
0 100kN/MZH#EZ % — -~ — —|3mZEH#Z S -~ — — —| 100kN/MZE#BZ % — -~ - —|[3mZEiBZ D -~ — — —
ThLst 1.00 | 0.00 ~ 6.26 78.69 | =nList | 0.00 ~ 6.26 | 1.97 9.96 ZzhList 1.00 | 500 ~ 8.09 78.69 | =n L4t | 5.00 ~ 8.09 | 1.97 9.96
100kN/M%Z#BZ % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3mEHEZD ~
FhLLSH ~ TnLst ~ TnLst ~ Zh st ~
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zzhs ~ zhus ~ zns ~ ZzhLs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ zhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ ImEBZD ~
Zhs ~ Zzhus ~ Zzhus ~ zhLs ~




